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Note: This qtrestion paper contains two P4rE-A 
an! B' 
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25 marks. Answer all questions in Part A' Putt B

consists of 5 Units. Answer any one full question from each unit. Each question carries

,. ., i i 10 marks. and may have a",b, c as sub:questions'
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L:a) What is the need of memory segmentation?

c) p..{er.rsign flag aqd-zero-f.lag will s.efl - -' i-\ i-'- ":
i, -; i.-. .; d) prziw th.e PSW ia\3(51 microconthol'l,e+ ..' ?-i i- 

":i..".'j i"-"i ;; wibiisiheneedbfApcandDAe',sin.sosl? 
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A Draw the hardware diagram t9 *qutl".11? using 8-bit ADC?

g) Name any two branch instructions of ARM processor'

h) Draw the vector table'
ij,--" Wf,at are the major addreds I9g."IP CORTEX processor?

. --, ,-. .. j) Na.;ng-th.,e specifigations 9f oMAP,l'"-\ l'-"-,., ,r-"1 i"""'."i
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List the addressing modes of 8086 and give example to each one.

Explain the function of the following instruclionsl

Desffibe the steps that 8086 will take when it responds to an intemrpt'

What is meant by nested intemlpt? Explain with an example'
i

Explain how data exchange takes place in 8051 microcontroller.

1-rqo,.Z=diSit BCD.....nu*lqrrc are..at...consecutive ,pre$gryraddress'es"' Q+t and Qt4"

tsorhouteth" OifferrnTe-_""i-tt*;";;.:;L; unA ,to1*,irre_rezutt ut lopaton y: t5+51i
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Explain PUSH and POP instructions with examples'

Binary numbers are stored at consecutive data memory

Rearrange the numbers in descending order'

[s+5]

addresses starting at Q.
[s+5]
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6.a) Explain DAC interface to 8051 microcontroller.
b) How do the direction of d.c. motor is controlled using microcontroller? [6+4]

'oRr" i - ' Wi1t. a"prograrn.,1l,-1i.n"or frequqlci by measu.lin'giihe time for m cycles of lhe , 'i,....,,,'l . '/'a)
i,.i..q1knoumperiodicWave..'i',:i.,,i,.''.].,

b) Write a look up table program that will allow the F key of a 2-of-8 coded keypad to be
used as a shift key. [5+5]

8.a) Explain about any 16-bit microcontrollers.
b) Write about ARM/THLMB instruction set and development tools. [5+5]

i'"'.: 1*,..'9.a) bis"cuss,the VO pbrt! 4nd:interrupf'stiueturb of 16-6it microbontrollgrs:r ,- ,,' I ': ,,^.;' ',

.i ""' : ' b) Discuss the pro[rdmrnable timers- and'high speed'outputs and inputs of l6-bit ' i
. microcontrollers. [5+5]

. 10. Briefly describe the features of the Cortex M3 based microcontrollers memory
organization. [10]
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